Name : Frequency Distribution Table Metrics
Chapter : Statistics
Grade : ICSE Grade VI

EduSahara™ Assignment License : Non Commercial Use

Scores of 16 students are given below. Find the mode.
1. Score 70|71|72|73|75|77|80|85
No.ofstudents| 2 |2 (1|1 4|1 |3 |2

(i) 76 (i) 77 (iii) 75 (iv) 74 (v) 73

Temperatures of 15 days are given below. Find the median.
2. | Temperature (in degree C) |25|26|27|28|29(30|34(35
No. of days 212|114 |1|1]|3

(i) 27°C (ii) 29°C (iii) 30°C (iv) 31°C (v) 28°C

Weights of 20 students are given below. Find the mean.
3. | Weight (in kg) (41 (42|47|48|49|58|60
No.ofstudents| 1 |2 |5 |4 |1 |6 |1
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Weights of 16 students are given below. Find the mode.
4. | Weight (in kg) |41|47|48|52|53|55|56
No.of students| 2 |1 |2 |4 |2 | 3|2

(i) 51kg (i) 52kg (iii) 50kg (iv) 53kg (v) 54kg

Weights of 30 students are given below. Find the median.
5. | Weight (in kg) (40|42 (43|45|47|49|53|54|55|56|57 |60
No.ofstudents| 2 (2 (2|3 |1 |5|1|4|3|2|3]|2

(i) 53kg (i) 52kg (iii) 51kg (iv) 50kg (v) 49kg

Wages of 30 labourers are given below. Find the mean.
6. | Wage (in rupees) | 305|324 |328|419|426|451 453|466
No. of labourers | 4 2 4 5 3 5 3 4

(i) X403.03 (ii) X401.10 (iii) X402.03 (iv) X401.03 (v) X401.07

Wages of 16 labourers are given below. Find the mode.
7. |Wage (in rupees) | 327 (376|402 | 447 |465|474 485|486 | 496
No. of labourers | 1 1 1 1 2 1 4 3 2

(i) X484.00 (ii) X486.00 (iii) X487.00 (iv) X485.00 (v) X483.00

Wages of 30 labourers are given below. Find the median.
8. |Wage (in rupees) | 300|319 |356|419 (425|435 (437 (455|462 |474
No. of labourers | 2 5 2 1 5 1 6 4 3 1

(i) X431.00 (ii) X430.00 (iii) X429.00 (iv) X432.00 (v) X428.00
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Heights of 30 students are given below. Find the mean.

Height (in cm) | 128 130|141 (144|153 |154|173

No. of students| 5 3 7 5 1 4 5

1477 1459 .. 1457 ) 1467 729
10 cm (i) l—ocm (iii) % cm

(i)

Heights of 16 students are given below. Find the mode.
Height (in cm) |125(127|128|138|143|147 (149|169
No. of students| 2 1 6 2 1 1 2 1

(i) 128cm (ii) 127cm (iii) 130cm (iv) 129cm (v) 126cm

Heights of 30 students are given below. Find the median.
Height (in cm) [128|129|130(131|139|161|165|169
No. of students | 2 6 2 4 6 3 4 3

(i) 141lcm (ii) 137cm (iii) 139cm (iv) 138cm (v) 140cm

Heights of 25 plants are given below. Find the mean.
Height (in cm) |53 |56 |61 |64 |66 |68 |70
No.ofplants | 4 |2 |5|2 |3 (4|5
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Heights of 26 plants are given below. Find the mode.
Height (in cm) |52 |55|64 |66 |72|77|85|95|96 |97
No.ofplants |1 |3 |3 (4|7 |2 |1|2|2]|1

(i) 70cm (ii) 71lcm (iii) 73cm (iv) 72cm (v) 74cm

Heights of 30 plants are given below. Find the median.
Height (in cm) |58 |62 |66 80|81 |87 |89
No.ofplants | 3 |5 |4 |5 |7 |1|5

(i) 81cm (ii) 82cm (iii) 78cm (iv) 79cm (v) 80cm

Ages of 10 students are given below. Find the mean.
Age (in years) |10(11|12|13
No. of students| 3 | 3 | 2 | 2

(i) >7 ears (ii) 123 ears (iii) 23 ears (iv) 133 ears (v) 113 ears
i) — i) —— i) — iv) —— V) ——
57 107 27 107 10”7

Ages of 11 students are given below. Find the mode.
Age (in years) [10|11|12|13|14|15
No.ofstudents| 5 |1 |1 |1 |2 |1

(i) 12years (ii) llyears (iii) 8years (iv) 9years (v) 1lOyears

Ages of 10 students are given below. Find the median.
Age (in years) (10|11(12|13|14
No.of students| 2 |2 |2 |3 |1

(i) 13years (ii) 12years (iii) 10years (iv) llyears (v) l4years
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Scores of 15 students are given below. Find the mean.

Score 75|76|78|79(84 858687 |89
No.ofstudents| 1 |2 (2|4 1|1 1|21
406 | 1232 1247 1219 1217
(i) — (i) —— e v

5 15 15 15 15

Scores of 26 students are given below. Find the mode.

Score

70

73

74

76

77179|80|81|83

84

88

90

No. of students| 2

3

1

2

1/3|3|1/|1

1

(i) 87 (ii) 86 (iii)

90

(iv) 88

(v) 89

Scores of 25 students are given below. Find the median.

Score

70

71

72

76

83/86|88

No. of students| 6

2

4

3

413]|3

(i) 78 (ii) 75 (iii)

77

(iv)

74 (v)

76

Rainfall of 15 days are given below. Find the mean.

Rainfall (in mm) |5

7|8

9

10

11|12|13

No. of days 3

1(3

1

3

2111

() 9mm (i)

mm  (iii)

mm

54

(iv) 5

Rainfall of 31 days are given below. Find the mode.

Rainfall (in mm) |5

6|8

9

10

11|12|13|14|15

No. of days 1

2|3

2

6

24344

(i) 8mm (ii) 9mm

(iii) 10mm (iv) 11mm (v) 12mm

Rainfall of 20 days are given below. Find the median.

Rainfall in mm) |5|/6(7(9(10(11(12|13|14|15
No. of days 2/3(1|2|1|2|1|1|2]|5
(i) 10mm (ii) 12mm (iii) 13mm (iv) 11mm (v) 9mm

Temperatures of 30 days are given below. Find the mean.

Temperature (in degree C) |25(27(28|29|30|31|32|33(34|35
No. of days 4 |1|3|(3|5|2|1|1|3|7
i 283 oc iy 28Lec iy B vy Pleoc v YOoc
i) —— i) —— i) —— iv) —— V) ——
15 15 15 15
Temperatures of 21 days are given below. Find the mode.
Temperature (in degree C) (25|26 (27(28|29|30|31|33|34|35
No. of days 1252213 |1|2]|2
(i) 28°C (ii) 25°C (iii)) 26°C (iv) 27°C (v) 29°C

Temperatures of 20 days are given below. Find the median.

Temperature (in degree C)

25

28(29|31|33 |34

35

No. of days

114|143 /4)2

2

(i) 32°C (ii) 30°C

(iii) 29°C

(iv) 33°C (v) 31°C
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Weights of 25 students are given below. Find the mean.
Weight (in kg) |40 (41 42|43 |44|46|50|56|57
No.ofstudents| 2 (2 |4 |2 (4|2 |1 |4 |4

(0) 1188k (i 1187k (i) 1236k (iv) 1211k
i 5 g (ii ETH g (iii ETH g (iv 5 g

Weights of 11 students are given below. Find the mode.
Weight (in kg) (42|48 |54|59|60
No. of students| 1 |2 |2 | 4 | 2

(i) 57kg (i) 60kg (iii) 61kg (iv) 59kg (v) 58kg

Weights of 10 students are given below. Find the median.

Weight (in kg) |41[4245[46[52(59]60

No.ofstudents| 1 (|3 |1 |1 |1 (|2 |1

(i) 46kg (ii) 95k (iii) 91k (iv) 93k
9 > 9 > 9 > g

Wages of 10 labourers are given below. Find the mean.

Wage (in rupees) |318|331|346|389|397|399 406

No. of labourers | 2 1 1 1 1 1 1

(i) ¥390.40 (ii) X392.40 (iii) ¥390.80 (iv) %X391.40

Wages of 16 labourers are given below. Find the mode.

Wage (in rupees) | 329|360 363|387 |395|429 (432

No. of labourers | 3 2 2 2 2 2 2

(i) ¥331.00 (ii) X330.00 (iii) X328.00 (iv) X329.00

Wages of 15 labourers are given below. Find the median.

Wage (in rupees) | 324|329 351|361 (493

No. of labourers | 6 1 1 4 3

(i) X351.00 (ii) X349.00 (iii) ¥352.00 (iv) X353.00

) 1186

v) 10
25 9

500

2

(v) ¥390.60

445

1

(v) %327.00

(v) ¥350.00



Assignment Key

1) (iii) 2) (ii) 3) (i) 4) (ii) 5) (iii) 6) (iv)

7) (iv) 8) (ii) 9) (iii) 10) (i) 11) (iii) 12) (iv)
13) (iv) 14) (v) 15) (v) 16) (v) 17) (ii) 18) (v)
19) (iv) 20) (v) 21) (iii) 22) (iii) 23) (iv) 24) (ii)
25) (iv) 26) (v) 27) (v) 28) (iv) 29) (iii) 30) (i)

31) (iv) 32) (i)
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